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6. Consider a model with two stocks. Each stock pays dividends continuously at a rate
proportional to its price.

S;(t) denotes the price of one share of stock ; at time .
Consider a claim maturing at time 3. The payoff of the claim is
Maximum (5,3), 5,(3)) .. Ot woxigaum  opion
You are given:
i) S(0)=8100
(i) S,(0)=$200
(iii)  Stock 1 pays dividends of amount (0.05)S, (7)dr between -_time t and time ¢+ dl. 8« = 0.05
(iv)  Stock 2 pays dividends of amount (0.1)S,(¢)dt between time ¢ and time 7+ . SL =0.40

=3 (v)  The price of&European option to exchange Stock 2 for Sthk 1 at time 3lis $10.

exercine, Aate,

Calculate the price of the claim. T
A)  $96 An exd..\mge ea\\

(B)  $145 W/ Umdg;Q:!;'V\ Q
( © $158> Lnd shnko J : 1%
_ 2.

(D)  $200

k € $234 =2 VEQ (o, SA; S.t)"" A0

A

\IMp‘x(o) = ﬁ“; (S.'L\ T \JEQ.(O\sJ\ .SL)
=200 + 40
= AR B () o
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(K = min (23.m,35,M),




a4
|4
P

SCTY
QT

|50
a0 W P
100 ‘
|08
&0 )
2R
200
W)
A



